Multiply by powers of ten (missing number)

5.252 %

9.989 x

5.066 x

10.847 x

5.832 x

5.903 x

8.589 x

=620.2

=52.52

=998.9

= 50.66

= 108.47

7.339 x

=583.2

=590.3

= 858.9

87

= 7339

3.7 %

Date:

1.38 x

= 3700

=138

8.482 x

4.614 x

8.235 x

6.192 x

9.852 x

7.933 x

4.298 x

9.928 x
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= 84.82

=46.14

=823.5

= 6192

=985.2

=79.33

=429.8

=992.8

Score:
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Multiply by powers of ten (missing number)

6.202 x 100 = 620.2

5252 x 10 = 52.52

9.989 x 100 = 998.9

5.066 x 10 = 50.66

10.847 x 10 = 108.47

5.832 x 100 = 583.2

5.903 x 100 = 590.3

8.589 x 100 = 858.9

8.7 x 10 = 87

7.339 x 1000 = 7339

Date: Score:

3.7 x 1000 = 3700

1.38 x 100 = 138

8.482 x 10 = 84.82

4.614 x 10 = 46.14

8.235 x 100 = 823.5

6.192 x 1000 = 6192

9.852 x 100 = 985.2

7.933 x 10 = 79.33

4.298 x 100 = 429.8

9.928 x 100 = 992.8
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